

03/06/2023

**Vendor Ranking** 

Page 1 of 1

**Letting:** 04230303

Contract: E4W23-R0

**District:** District 4

Counties: PALM BEACH

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s)**: 44088247201 (\*)

Contract Desc: PALM BEACH LANDSCAPE AREAS - LANDSCAPING

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$289,248.50	100.00%
2	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$484,764.00	167.59%
3	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$807,250.00	279.09%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

**BEGIN DATE:** 

03/28/23

**BEGIN TIME:** 

10:30 AM

**END DATE:** 

03/31/23

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 250,000.00 and not the contractors bid total.





**Tabulation of Bids** 

Page 1 of 5

**Letting:** 04230303 March 03, 2023 **Call Order:** 002 **Contract:** E4W23-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44088247201 (\*)

Contract Descr: PALM BEACH LANDSCAPE AREAS - LANDSCAPING

The work under this Contract consists of performing landscape related activities such as mowing, weed eating, litter removal, tree trimming, fertilizing, and terrace retaining, wall cleaning at various locations on I-95 within Palm Beach County.

- REQUIRED SUBMITTAL WITH BID: Landscaping Experience Form 850-070-09 must be submitted with the bid
- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$250,000.00 and not the contractors bid total.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

Line No / Item ID A	Alternate Quantity Units	(1) T & M LA SERVIO		(2) SUPERIOR L & LAW		` '	VESTERN CTION, INC
() indicates item is bid as Lur	mp Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 0400145 CLEANING CONCRETE SUF	2,000.000 RFACE SF	0.30000	600.00	0.79000	1,580.00	10.00000	20,000.00
0010 0580 8 1 LANDSCAPE- PALM PRUNING/TRIMMING, MANU THAN 14' OF CLEAR TRUNK	•	20.00000	56,000.00	19.00000	53,200.00	35.00000	98,000.00
0015 0580 8 2 LANDSCAPE- PALM PRUNING/TRIMMING, MANU GEATER OF CLEAR TRUNK	•	30.00000	60,000.00	33,00000	66,000.00	35.00000	70,000.00



Page 2 of 5

## Florida Department of Transportation



# **Tabulation of Bids**

<b>Letting</b> : 04230303	March 03, 202	3 <b>Call Order:</b> 002	Contract:	E4W23-R0
---------------------------	---------------	--------------------------	-----------	----------

Letting	g: 04	4230303	March 03, 2023	B Cal	I Order: 002		Contract:	E4W23-R0	
	No / Item ID Description	Alternat	e Quantity Units		(1) T & M LAWN-FENCE SERVICE INC		(2) SUPERIOR LANDSCAPING & LAWN SE		VESTERN CTION, INC
() inc	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	INE MOWING (AC	,				
		COMPLETE AN 14' OF CLE	30.000 EA EAR	1.00000	30.00	490.00000	14,700.00	600.00000	18,000.00
	0580 9 2 CAPE- PALM, AL, 14' AND G TRUNK		20.000 EA	1,00000	20.00	890.00000	17,800.00	600.00000	12,000.00
	0580 9 10 CAPE- TREE, 'AL, 1" TO 8" D		20.000 EA	1.00000	20.00	700.00000	14,000.00	500.00000	10,000.00
	0580 9 11 CAPE- TREE, 'AL, 8 TO 24" I		20.000 EA	1.00000	20.00	900.00000	18,000.00	800.0000	16,000.00
0040 LITTER	E107 1 1 REMOVAL		520.000 AC	10.00000	5,200.00	14.00000	7,280.00	100.00000	52,000.00
0045 MOWIN	E107 2 1 G (LARGE MA	ACHINE)	110.000 AC	35.00000	3,850.00	33.00000	3,630.00	500.00000	55,000.00
0050 MOWIN	E107 2 2 G (SLOPE)		80.000 AC	100.00000	8,000.00	166.00000	13,280.00	400.00000	32,000.00
0055 MOWIN	E107 2 3 G (INTERMED	DIATE MACHIN	180.000 NE) AC	35.00000	6,300.00	100.00000	18,000.00	400.00000	72,000.00



Page 3 of 5

## Florida Department of Transportation



## **Tabulation of Bids**

Letting	g:	04230303	March 03, 2023	3 Cal	I Order: 002		Contract:	E4W23-R0	
	No / Item ID		e Quantity Units		(1) T & M LAWN-FENCE SERVICE INC		(2) SUPERIOR LANDSCAPING & LAWN SE		/ESTERN CTION, INC
() inc	dicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0001	(LARGE MACH	IINE MOWING (AC	<b>;</b>				
0060 MOWIN	E107 2 4 G (SMALL M	1ACHINE)	30.000 AC	35.00000	1,050.00	100.00000	3,000.00	350.00000	10,500.00
0065 EDGINO	E110 32 2 3		5.000 MI	100.00000	500.00	144.00000	720.00	1,000.00000	5,000.00
0070 FERTILI TREES	E570 6 1 IZER, SLOW	' RELEASE FOR	2,400.000 R SY	0.01000	24.00	0.94000	2,256.00	5.00000	12,000.00
0075 FERTILI PALMS		' RELEASE FOR	43,250.000 R SY	0.01000	432.50	0.44000	19,030.00	3.00000	129,750.00
	E580 3 1 CAPE MAIN <sup>-</sup> 'AL, MANUA	ΓΕΝΑΝCE (WEE L)	4,000,000.000 ED SF	0.03000	120,000.00	0.02350	94,000.00	0.01000	40,000.00
0085 MULCH	E580326 4 WOOD CHI	PS	20,200.000 SY	0.01000	202.00	4.44000	89,688.00	5.00000	101,000.00
0090 HERBIC SF)	E580337 3 CIDE (SPOT	3 APPLICATION <	2,700,000.000 < 100 SF	0.01000	27,000.00	0.01800	48,600.00	0.02000	54,000.00
		GE MACHINE S MOWING (AC)	Section Totals:		\$289,248.50		\$484,764.00		\$807,250.00



03/06/2023

Page 4 of 5

## **Tabulation of Bids**

etting: 04230303 March 03 2023 Call Order: 002 Contract: F4W23-R0

 <b>Letting:</b> 04230303 March 03, 2023		3 <b>C</b> :	all Order: 002		Contract:	E4W23-R0		
Line No / Item ID Alternate Quantity Item Description Units		addining	(1) T & M LAWN-FENCE SERVICE INC		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) MIDWESTERN CONSTRUCTION, INC	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract G	irand Totals:		\$289,248.50		\$484,764.00		807,250.00



03/06/2023

#### **Tabulation of Bids**

Page 5 of 5

**Letting:** 04230303 March 03, 2023

Call Order: 002

Contract:

E4W23-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.